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2y HE 1HE 2ME 3ME A E SHE B84
IBK7| 28 3 16 25 13 25 15 94
SR 23 A 2 25 19 25 22 13 104
> 25 7| A1 §F d
IBK7| 28 2tRizi|bt - & 4357H, 32 40F, 222 3H, ME 0F
SIREEZAL HHOL - 5 295F, 37 28F, 2EZ 138, ME 0F
» = HX
IBK7| 2% St ERIA
=9 39(Q& 15) 59/(= 2mf)
el aE/m) 75 71 55 oI
AIEEA dOEA 25 1 -
ACj S SOEA 265 300} -
E AESA doEA 25 omf -
B iS4 Yoy 155 1404 -
g AESU 55 204 -
2 guisdt 935 481f -
OffJI0] A|IZEE A - 25 61
Of2l0] oS4t - 1055 10704
» 25 7| 7|15 Hn
IBK7| & 24 7|5 St E2IA
= s o
8173 STHS+E+M) 817
727H(40.68%) 3A4E3 (438 667H(40.74%)
770(1.407H) ERZHEIHMED) 97H(1.807H)
27H(0.407H) MEEIMED) 6711(1.207H)
6871(13.607H) HMEMIMEY) 627M(12.4071)
357K(5.807H) ZAIEE=MES) 407} (7.607H)
9471(18.807H) CaAdSHES) 9271(18.407H)
2374 Ha 1371
374 HA(20H0|%) 271
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H 99 F7I. IBK7|H 2" vs SR E 2T A (2H, 2020.12.23, 19:00~21:25)
» E2Z 7|5 Hln
IBK7| 28 VS stz 2 A
97H No Block 874
2274 7 37K 1 Block 2771 7 17H
1307 / 47 2 Block 14171 7 874
171 /7 07M 3 Block 171 7 07H
* 22 Y ¥ AR "/ 43 e
> SE ME ME Al &0 E27{0f [HE SH7|F Hw
BK7| €28 34 VS SZE2IZA 2
171 7 071(00.0%) No Block 470 7 170(25.0%)
2270 7 97H(40.9%) 1 Block 1870 / 57H(27.8%)
11671 /7 487H(41.4%) 2 Block 10671 / 4771(44.3%)
- 3 Block 178 / 174(100.0%)
*SAMNE /43 (838)
> MEQ 37 22
> IBK7| 28
E AE %3 AIZERL ol =9
MIET 2| 35(48.6%) 6(08.3%) 5(06.9%) 3(04.2%) 3(04.2%) 20(27.8%)
ME =2 39(58.2%) 13(19.4%) 5(07.5%) 1(01.5%) 0(00.0%) 9(13.4%)
oA 74(53.2%) 19(13.7%) 10(07.2%) 4(02.9%) 3(02.2%) 29(20.9%)
* BHA|E (BHERHE)
> SHREZ2ZA
E AE %3 AIZERL ol =42
MIET 2| 30(38.0%) 22(27.8%) 3(03.8%) 3(03.8%) 5(06.3%) 16(20.3%)
ME =2 25(50.0%) 16(32.0%) 2(04.0%) 0(00.0%) 1(02.0%) 6(12.0%)
oA 55(42.6%) 38(29.5%) 5(03.9%) 3(02.3%) 6(04.7%) 22(17.1%)
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- 4R Yo E4 SH 30008 24 (9F)/ $1XI3000H, 2= 6H
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12 gAF 2012-01-31 =3 VS @Ol / XY 54517F
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718¢ 30008 248,574 92, 2= 63, ¥X 30008 (FH1= BAFFU2= U Y)

-ESF dUisi MEE3E 25071 2M6=)/ #2507, 25 174
k=)

S FAZF 2012-11-08 = VS #rlf / S| 44074

A S4 A5 3500F SHGZ)/ 35058, 2= 28T

13 AHZF 2015-11-11 SO VS KGCRIAZ AL / SRY 4546

= HE Ha
o 2y &3 = o 47+ | SME | MdME sus =3 oy cus ol
1 s34 32 11 2 13 35 15 2.333 1173 1,063 1.103 15
2 GSZHEA 23 8 6 14 32 26 1.231 1,322 1,266 1.044 1of
3 BKZ|g2d 21 7 7 14 25 30 0.833 1,185 1,228 0.965 15
4 KGCOI &S At 19 6 8 14 26 28 0.929 1,181 1,207 0.978 15
5 St T2 S A 16 5 9 14 24 32 0.750 1,204 1,218 0.989 20f
6 oA 12 4 9 13 19 30 0.633 1,055 1,138 0.927 15
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